LT1248 shown but only look at Current sense transformer bit

.model sw sw(ron=1m)

.ic V(out)= 390v

MAINS
180-265VAC

iy ps
wenstras] ewstros|

WRONG

()

v(000) v(111) v(222)

B
BE

v(000) v(111) v(222)

BEST

T i o
I =
iy % o0
N .ic V(outl)= 390v
.model sw sw(ron=1m) -
gix

MAINS
180-265VAC o

o o PFC 60kHz -

v e = L« " N
ég,. P -
i F”;
el sne] & - wﬂ = UK
" Tm
.ic V(out2)= 390v
.model sw sw(ron=1m)

MAINS
180-265VAC

°

T B
.ic V(out3)= 390v
.model sw sw(ron=1m) b
g .
MAINS I
180-265VAC
o e Lo i
i | m - mo
K% -

--- C:\Users\masse\Documents\ucc28070a incorrect\LT1248 Boost PFC 1000W 100vac CST.asc ---



